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A new firm commenced business on 1st January, 2011 and
purchased goods costing Rs. 90,000 during the year. A sum of Rs.
6,000 was spent on freight inwards. At the end of the year the cost
of goods still unsold was Rs. 12,000. Sales during the year Rs.
1,20,000. What is the gross profit earned by the firm?

(a) Rs. 36,000 (b) Rs. 30,000

(c) Rs. 42,000 (d) Rs. 38,000

A Company wishes to earn a 20% profit margin on selling price.
Which of the following is the profit markup on cost, which will
achieve the required profit margin?

(a) 33% (b) 25%

(c) 20% (d) None of the above

Sales for the year ended 31st March, 2011 amounted to Rs.
10,00,000. Sales included goods sold to Mr. A for Rs. 50,000 at a
profit of 20% on cost. Such goods are still lying in the godown at
the buyer’s risk. Therefore, such goods should be treated as part of
(a) Sales. (b) Closing Inventory.

(c) Goods in transit. (d) Sales return.

Cost of goods sold Rs. 19,000
Closing inventory Rs. 6,000
Sales Rs. 30,000

Gross Profit will be

(a) Rs. 10,000 (b) Rs. 11,000 (c) Rs. 5,000
Manufacturing account is prepared to

(a) Ascertain the profit or loss on the goods produced

(b) Ascertain the cost of the manufactured goods

(c) Show the sale proceeds from the goods produced during the year
(d) Both (b) and (c).

Consider the following for Alpha Co. for the year 2009-10:

(d) None

Cost of goods available for sale Rs.1,00,000
Total sales Rs. 80,000
Opening inventory of goods Rs. 20,000
Gross profit margin 25%

Closing inventory of goods for the year 2009-10 was

(a) Rs. 80,000 (b) Rs. 60,000 (c) Rs. 40,000 (d) Rs. 36,000

Atul purchased goods costing Rs. 50,000 at an invoice price, which
is 50% above cost. On invoice price he enjoyed 15% trade discount
and Rs. 3,750 cash discount on cash payment of goods in lump sum
at the time of purchase. The purchase price to be recorded in the
books before cash discount will be

(a) Rs.75,000. (b) Rs. 60,000.

(c) Rs. 63,750. (d) Rs. 50,000.
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TP 3 BH o SN 1, 2011 BT IR YR fHar qon a9 &
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(a) Scofea 58 & A1 R @™ A1 B & FRiRa &+ 3g

(b) fafafig frd T A1 W amTa & FRIiRd &9 2g

(c) 9 & SRM Sarfed fFy ™ A 9 fdwg wiftd & yde &=+
st

(d) (b) wd (c) =i

I§ 2009-10 TG SfHI HUAI & W A fHfaRed wfaErR

fI%a ¥ Suaer A1 @1 AnTd 1,00,000 .
g faea 80,000 %.
AT BT YR Iefaar 20,000 %.
Hbol AT 25%

¥ 2009—10 TG 31T\ BT o—
(a) 80,000 % (b) 60,000 %. (c) 40,000 ®. (d) 36,000 .

I 71 d9d [ed, T AN W 50: AP T, W 50,0005, Bl AN
BT A A fHar| 96 qou W S 15 ARG g el qen w3
P T UHEI H A A$HE YA W 3750 W dHe ge fAell |
gD § TH5S g ¥ yg AfAferRad faam S aren wa ged Brm—
(a) 75,000 . (b) 60,000 %. (c) 63750 ®.  (d) 50,000 .
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A purchased a computer costing Rs.10,000. Repairing expenses
Rs.1,000 and miscellaneous expenses Rs.500 were incurred by him.
He sold the computer at 20% margin on selling price. The sales
value will be

(a) Rs.12,500 (b) Rs.11,000

(c) Rs.14,375 (d) Rs.13,800

Opening inventory of the year is Rs. 20,000, Goods purchased
during the year is Rs. 1,00,000, Carriage Rs. 2,000 and Selling
expenses Rs.2,000. Sales during the year is Rs. 1,50,000 and closing
inventory is Rs. 25,000. The gross profit will be:

(a) Rs. 53,000. (b) Rs. 55,000.

(c) Rs. 80,000. (d) Rs. 51,000.

Prakash sells goods taking 25% profit on sales. His sales were
Rs.10,20,000 during the year. However, he sold damaged goods for
Rs.20,000 costing Rs.30,000. This sale is included in Rs.10,20,000.
The amount of gross profit is

(a) Rs. 1,90,000 (b) Rs.2,50,000

(c) Rs.2,40,000 (d) Rs.2,00,000

Mr. Mohan started a cloth business by investing Rs. 50,000, bought
merchandise worth Rs. 50,000. He sold merchandise for Rs. 60,000.
Customers paid him Rs. 50,000 cash and assured him to pay Rs.
10,000 shortly. The amount of revenue earned by himis

(a) Rs. 50,000. (b)Rs. 60,000.

(¢) Rs. 1,00,000. (d)Rs. 70,000.

The following information pertaining to a firm as on 31 December
2009

Opening Inventory Rs. 20,000, Purchases Rs. 1,50,000

Sales Rs. 1,40,000, Gross profit on sales has been 25%. The cost of
goods sold during the year will be

(a) Rs. 1,20,000 (b) Rs. 1,75,000 (c) Rs. 1,40,000 (d) Rs. 1,05,000
The total cost of goods available for sale with a company during the
current year is Rs. 12,00,000. Total sales during the period are Rs.

13,00,000. If the gross profit margin is 33§ % on cost. Closing

inventory of the current year will be

(a) Rs. 4,00,000 (b) Rs. 3,00,000

(c) Rs. 2,25,000 (d) Rs. 2,50,000

X sells goods at cost plus 60%. Total sales were of Rs. 16,000. Cost
price of goods will be

(a) Rs.10,000 (b) Rs.9,000 (c) Rs.15,000 (d) None
Following figures have been taken from the trial balance of a trader
Gross Purchase Rs. 60,000 Gross Sales Rs. 1,00,000
Purchase Returns Rs. 5,000 Sales Returns Rs. 7,000

Duty Drawback Rs. 6,000 Sales Tax Rs. 12,000

The amount of G.P. will be

(a) Rs. 32,000 (b) Rs. 38,000 (c) Rs.40,000 (d) Rs. 26,00
Inventory worth Rs. 20,000 (cost price Rs.15,000) taken by Naresh
who is a clerk in the office. The same is to be deducted from his
salary in the subsequent month. Journal entry will be:

(a) Dr. Salary A/c Rs.15,000 and Cr. Purchases A/c Rs. 15,000

(b) Dr. Naresh Rs.20,000 and Cr. Purchases A/c Rs. 20,000

(c) Dr. Salary A/c Rs.20,000 and Cr. Purchases A/c Rs. 20,000

(d) None of the above

The balance in books of X, a sole proprietor were :-

Opening Stock Rs. 17,000, Purchase Rs. 52,000, Wages Rs. 46,500,

8.

10.

11.

12.

13.

14.

15.

16.

17.

T 9 10,000 . & AR &1 U&h HFIISR HI a7 | S0 §RT AT
@9 1,000 %. T fAfdy @/ 500 %, Y | 99T BT g9 W 20:
A AR FFYER 99 e | ey g9 Brm—

(a) 12,500 %. (b) 11,000 %. (c) 14,375 %. (d) 13,800 %.

Y BT URPIS BT 20,000 ®. 8, 9§ H HI fHAT 97 AA 1,00,000
®. 8 WISl 2,000 . dAT Ay =¥ 2,000 %.| 9§ B SRE fAHy
1,50,000 3. TIT 31" TERMAT 25,000 . & | Ahel o BRT—

(a) 53,000 . (b) 55,000 %. (c) 80,000 %. (d) 51,000 .

1. e Oy & 25 ufed Afde W Wi A ¥ 9¥ & SR
fama IR 10,20,000 . 2| TR S/ 30,000 F. AN BT SRR
AT 20,000 %. ¥ 911 I8 %I 10,20,000 . # A gaml B | HhA
A B I B

(a) 1,90,000 %. (b) 250,000 %.

(c) 240,000 %. (d) 2,00,000 %.

. HIBT 7 50,000%. TEMHR HUS P FTAI Y. fBAT, 50,000 %.
qod &1 ATl WYET| S99 W BT 60,000 ®. F IAT| UEHI 7 S
50,000 ®. BT IAH fFar dar S 10000 ®. Tedl & IV B
3T | SHa gRT SIS A B AR 8-

(a) 50,000 %. (b) 60,000 %. (c) 1,00,000 %. (d) 70,000 .
1 T 31 AR, 2009 BT TP BH @ AR W B
URAE Tih 20000%.
G 150000%.
GER] 140000%.

|Hdl oM [ R 25 Ufderd @1 21 9 & IRM 9% A1 3 ArTa
-

(a) 12000%. (b) 175000%. (c) 140000%. (d) 105000%.

I T B IRM Th H B U BT T SUG A B F/eA
AR 12,00,000 . B | 3@ & IR F [AFT 13,00,000 &. T | IS
WWWW%?%,WW‘WWWW@W—

(a) 4,00,000 . (b) 3,00,000 %. (c) 2,25000 %. (d) 250,000 %.

TFd AR AT 60 YRR TR ATl 9T & | ot fa&T 16,000 &, oY |
AT BT AN Jed BRT—

(a) 10,000 . (b) 9,000 %. (c) 15,000 %. (d) =18 =&

Th AN & dode 9 e Ry off T$—

b B 60000%. REIRCER] 100000%.
ER RG] 5000%. fasra aroft 7000%.
b BB 6000%. fara 12000%.
Ahel A BT I B

(a) 32000%.  (b) 38000%. (c) 40000%. (d) 26000%.

I 20000%. HT (ARTT eI 15000%.) R ERT MERVN a1 a7 i
AT H T © | SAD! FTel Ao d SHS Jaq | PIel ST © |
STeT of@T e T—

(a) Dr. Salary A/c 15000

Cr. Purchases A/c Rs. 15000
(b) Dr.Naresh A/c 20000

Cr. Purchases A/c 20000
(c) Dr.Salary A/c 20000

Cr. Purchases A/c 20000

(d) ST & B T8

1. ted &1 &% goha @E B, @ g@ H U B URMME W
17000%., ST 52000%., HTGY! 46500%., $e 15000%., fATHa 145000%.
3R Sifom wB 25000%. RT®T YE Il IoU 28000%. B | HEHA
AT T B |

Fuel Rs. 15,000. Sales Rs. 1,45,000 and Closing Stock Rs. 25000 (a) 39500%. (b) 42500%.
whose Net Realizable value was Rs. 28,000 Find the Gross profit (c) 54500%. (d) 57000%.
(a) Rs. 39,500 (b) Rs. 42,500
(c) Rs. 54,500 (d) Rs. 57,000
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Good worth Rs. 5,000 were supplied to Mr. X at an invoice price of
20 % above Cost and allowed trade discount at 10% on invoice
price. At what price were the goods sold to X ?

(a) Rs. 5,400 (b) Rs. 5,500

(c) Rs. 5,625 (d) Rs. 6,600

Cost of goods sold Rs.35,000, closing stock Rs.8,000, opening stock
Rs.10,000, purchase returns Rs.5,000.

Calculate cost of goods purchased were:

(a) Rs.33,000 (b) Rs.28,000 (c) Rs.38,000 (d) Rs.37,000
A decrease in the provision for doubtful debts would result in:

(a) Anincrease in liabilities. (c) A decrease in net profit.
(b) A decrease in working capital.(d) An increase in net profit.
Capital introduced in the beginning by Shyam Rs. 3,00,000; further
capital introduced during the year Rs. 2,00,000; Drawing Rs. 1,500
per month and closing capital is Rs. 4,50,000. The amount of profit
or loss for the year is:
(a) Loss Rs. 32,000.
(c) Profit Rs. 32,000.
(d) Information is insufficient for any comment.

A manager gets 5% commission on sales, cost price of goods sold is
Rs. 40,000 which he sells at a margin of 20% on sale. Manager
Commission will be

(a) Rs. 2000 (b) Rs. 2500 (c) Rs. 2800
The profit and loss account shows

(a) The financial position of the concern
(b) The degree of honesty with which accounting work has been done
(c) The capital invested in business

(d) Profit earned or loss suffered by the firm

Selling and distribution expenses does not comprise of:

(a) Godown Rent (b) Bad Debts

(c) Insurance for Stock of Finished Goods (d) Carriage Inward
Sohan runs a departmental store. He renovates his shop to
increase its space. The amount of Rs. 75,000 was incurred on
renovation. The amount to be charged to Profit and Loss A/c is

(a) Rs. 75,000 (b) Rs. 10,000 (c) NIL  (d) None of the above
Net profit before charging manager’s commission is Rs. 24,000 and
the manager is to be allowed a commission of 20% on the profit
after charging such commission. Commission amount will be:

(a) Rs. 4,000 (b) Rs. 4,800 (c) Rs. 4444.44 (d) None
Rent paid on 1st October, 2008 for the year to 30th September,
2009 was Rs. 1,200 and rent paid on 1st October, 2009 for the year
to 30th September, 2010 was Rs. 1,600. Rent as shown in the profit
and loss account for the year ended 31st December 2009, would be
(a) Rs. 1,200 (b) Rs. 1,600 (¢) Rs. 1,300 (d) Rs. 1,500
Mohan'’s trial balance contains the following information:

Discount received Rs.1,000, Provision for discount on trade
payables Rs.1,600, It is desired to maintain a provision for discount
on trade payables at Rs.1,100. The amount to be creditedto P & L
Account is :

(a) Rs.1,500 (b) Rs.3,500. (c) Rs.1,000. (d) Rs.500.

Mohan started business with Rs. 10,000.00 cash and Rs. 2,000.00
furniture. Sales amounted to Rs. 50,000.00 including Rs. 5,000.00
cash sales. Rs. 10,000.00 sales were outstanding at the end of the
year. Purchase amounted to Rs. 30,000.00 including Rs. 10,000.00
cash purchases. Rs. 15,000.00 has been paid to suppliers. Expenses

(b) Loss Rs. 50,000.

(d) None
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(a) Rs. 5,400 (b) Rs. 5,500

(c) Rs. 5,625 (d) Rs. 6,600

I T AT P AN 35,000 . AfTH WTIP 8,000 . URPID Tid
10,000 . I AT 5,000 ., HA B ART S DI

(a) 33,000 %. (b) 28000 %. (c) 38000 %. (d) 37,000 %.
Wy SRl @ ford graer # & S B

(a) =rfdw & & gfg (b) wrieha goft # T &

(c) g€ o 3 TP (d) g o 7 gfg

WM R UR™ H R T IS 3,00,000 F. €, 9§ B IR AT
T afaRed Yol 2,00,000 %, GRT AE SMERT 1,500 ®. TeOm <A
GSit 4,50,000 . | I BT AT AT B BT ART 5

(a) 32,000 . BT (b) 50,000 . BT

(c) 32,000 &. B (d)fer=y fewft 7g o srafe & |
TH Ja=IF 9o R 5% HHEE Urdr 8, 99 T4 71 &I AN 40,000
%. & O 98 fasha WR 20 oM WR 99T B | USIdh BT HHEE BN
(a) 2,000 %. (b) 2500 %.

(c) 2,800 %. (d) <=1 & & Pig &S
Fr—gI @rar yelRfa wxar 8-

(a) suma o facha Rafa

(b) $AFER @1 wWR SR o @ida dr fdar g

(c) =raam & fafnr o = gofit

(d) w5 grr aIfsia o a7 Sor Y '

fawg vd fAavur = # wnfie =2 fsar simar?

(a) "em™ fawmar (b) sga =T

(c) Fffa ara & <t &1 w1 (d) m=aR& wreT

Qe Ue [T WSR Fln €| 98 I 98 & g oy &1 g
foHfor FRaT B 1 39 W 75000%. Wd Y T | AM—8IN @rd H =T
P S arelt I 'R

(a) 75000%. (b) 10000%. (c) = (d) &g =&
USEE: BT HHILE Bled A Gd A 24,000, 3 T UGS B UH
FHE BT Bled & 9§ o WR 20 Fhaerd wHeE A S €
HHITE BT AR BN |

(a) 4,000%. (b) 4,800%.

(c) 4444.44%. (d) Swiaa & & org &l

30 RAARR 2000 & & 9§ F oY 1 3racaR 2008 BT AT MRAT AR
1200%. oI T 30 RITR 2010 T& & 9§ & oIy 1 FCIR 2009 BT
fear 7RI 1600%. of| 31 faRFER 2009 BT FHME gJ a9 TG
o BN @ # R war v -
(a) 1200%. (b) 1600%. (c) 1300%.
Aigd & dore # fafaRad gaemd 2

U BT 1000%.
ATERI W BT Bg WaH™ 1600%.
TERI W 1100%. B B Wau™ fbar S gifsd &1 o w1 @
# ®fee B M el geRIfT § |

(a) 1500 ®.  (b) 3500 %. (c) 1000 %. (d) 500 %.

AIET 7 10,000 . FPHE TAT 2,000 . B AR B AT FAAI TR
faT| 5000 ¥. & THe AP AT 50,000 ©. B BT A 10,000
%. BT B 99 & T # 3rG AT| 10,000 ®. & hs I ARd FI
BT GRIT 30,000 w. ol | 15,000 ®. AMERI B YaH by T | a9
& ERM A AT T AT 19,300 . | TUE HT ANT BT

(d) 1500%.

paid during the year 19,300. Trial Balance total will be - (a) 67,000 %. (b) 70,000 %.
(a) Rs.67,000.00 (b) Rs. 70,000.00 () 75,000 . (d) 80,000 .
(c) Rs. 75,000.00 (d) Rs.80,000.00
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Following are the extracts from the Trial Balance of a firm as at 31st
March, 2012:

Name of Account Dr. Balance Cr. Balance
Salaries 16,000
P.F. deducted from salaries 1,000

Provide for employer’s share of P.F. equivalent to employee’s share
to P.F. The amount at which salaries expense will be shown in the
Profit and Loss A/c is

(a) Rs.15,000 (b) Rs.17,000

(c) Rs.16,000 (d) None

Salary paid for 11 months from April 2011 to February 2012
Rs.22,000. Amount of outstanding salary in the balance sheet

(a) Rs.1833 (b) Rs.2,000

(c) Rs.1,000 (d) None of the above

Capital introduced by Mr. A on 1.4.2011 Rs. 3,00,000; further
capital introduced during year was Rs. 50,000 in the mid of the
year. Mr. A withdrew Rs. 2,000 per month and the profit earned
during the year was Rs. 20,000. Capital as on 31.3.2012 will be:

(a) Rs. 3,94,000 (b) Rs. 3,46,000 (c) Rs. 2,94,000 (d) None
Following are the items of the balance sheet of Mr. X:

Capital Rs. 7,00,000; Machinery Rs. 5,00,000 and Cash Rs. 2,00,000.
If Mr. X spends Rs. 5,000 to meet his family expenses, the balance
of capital and cash accounts will be:

(a) Rs.7,00,000 & Rs.2,00,000.(b)Rs.6,95,000 & Rs. 1,95,000.

(c) Rs.7,00,000 & RS.1,95,000. (d) Rs.6,95,000 & Rs.2,00,000.

Ras started business on 01.01.2010 with a capital of Rs. 20,000 and
he borrowed Rs. 3,000 from a friend. He earned a profit of Rs.
10,000 during the year and withdrew cash Rs. 5,000 for private use.
What is his capital at the end of the year?

(a) Rs. 25,000 (b) Rs. 28,000 (c) Rs. 30,000 (d) Rs. 27,000

Balance of Provision for bad debts on Jan 1, 2009 Rs. 1250; Bad
debts during the year Rs. 300; Provision for bad debts is 5% on
Trade receivables of Rs. 10,000. Provision credited in A/C

(a) Rs.400 (b) Rs. 500 (c) Rs. 450 (d) None
G’s trial balance contains the following information —

Bad debts Rs. 4,000; Provision for doubtful debts Rs. 5,000; Trade
receivables Rs. 25,000 It is desired to create a provision for
doubtful debts at 10% on Trade receivables at the end of the year.
Trade receivables will appear in the balance sheet at

(a) Rs. 21,000 (b) Rs. 22,500 (c) Rs. 22,000 (d) None

Loan A/c credit balance on Dec. 31, 2009 15,000
Loan paid on June 30, 2009 4,000
Loan paid on Sept. 30, 2009 5,000
Interest on loan is to be charged 9% p.a.
Interest amount for the year 2009 will be

(a) Rs.1,867.50 (b) Rs. 1,800 (c) Rs.2,000 (d) None

Unexpired portion of capital expenditure in financial statement:
(a) liability (b) asset (c) Income (d)expense

Opening Inventory overstated by 10,000 and closing inventory
understated by 15,000. Impact on net profit for current year

(a) Rs. 5,000 overstated (b) Rs. 25,000 overstated

(c) Rs. 25,000 understated  (d) Rs. 5,000 understated

General Manager gets 10% commission on net profit after charging
such commission. Gross profit Rs. 70,000 and General expenses
other than manager commission are Rs. 12,000.

Commission amount will be
(a) Rs.5272.72

(c) Rs.5372.72

(b) Rs. 6072.72
(d) Rs.5172.72
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31 AT, 2012 B U BH & doldc I A=forRad SgxoT for Ri—

W BT A sfie 9y Bee 99
. .

qad 16,000

qaq | Brer Ty afos A 1,000

vy A & Jaroe @& 9T @ 9o A § e oW @
TR fHI T & FaRen HIY| 98 IR 9 w® a9 g B
A—BTN @Td # yefia fear s, 2

(a) 15000 . (b) 17,000 &. (c) 16,000 ®.  (d) ®IE =&

AU, 2011 | HRAY, 2012 TH 11 HE & da- B G=RIRT 22,000 .
A fhd T 2 faes H uelRia s a9 @1 iy enf-

(a) 1.833 %.  (b) 2,000 %. (c) 1,000 %. (d) g =&
1—4—2011 @ 4. T §RT 3,00000 ®. Yofl oFME T a¥ & SR
50,000 %. 3R A Goft oms TS| U 7 2,000 . Uhy AE T
T 99 & IR 20,000 F. AT FHAAT| 31—3—2012 BT Fonr ofi—

(a) 394,000 %. (b) 346,000 %.

(c) 2,94,000 %. (d) o= & 5+

&1 v & anfdfep fores o wid mfoRad &

S 7,00,000 . 7Y 500,000 F. TG AdHs 2,00000 %.| e A
a3 UIRATRG & PR g 5000 ®. &I HRAT 8, Yon qof
AHs @idl BT A BT

(a) 7.00,000 %. 2T 2,00,000 %. (b) 6,95,000 %. TAT 1,95,000 &.

(c) 7,00,000 . AT 1,95,000 . (d) 6,95,000 %. TAT 2,00,000 3.

I 7 01-01—10 BT 20,000 %. Yo & FaAR M fHar qen oA
TH 3 3 3000 % SR foar| S@9 af & <RE 10,000 . AT
ST JT 5l SUART 2 5,000 %, fF@Tel | a9 & 3 H I i
1 8?

(a) 25,000 &. (b) 28,000 %.

(c) 30,000%. (d) 27,000 =.

SR 1, 2009 BT IRT FON TG TGN BT AY 1,250 H; 9§ D
SR 32T 0T 300 % 10,000 . B GARRI R IFWRA FUN TQ
YIge= 5 Ul | o /' W@ H Sfse fhar mar urawe gem-
(a) 400 %. (b) 500 . (c) 450 %. (d) &g =&t

S &1 dade fifed aem @ dr g

IR T 4,000 . G FON T U@ 5000 %, Ay &R
25,000 .

g BT &1 ol 8 6 af & g # fafdy <ert R 10: wfewy

O B UTeRI A Sy |

e ferest # fafdy <w R &8R-

(a) 21,000 . (b) 22,500 ®. (c) 22000 ®.  (d) ®IE &

31 femR 2009 BT T @WK BT BT A 15,000

S 30, 2009 BT I fHAT T FHOT 4,000
fAawR 30, 2009 T I fHaT TRAT FEOT 5,000

T R o = aren @t 9% ufa af
1ot o ey gnfi-

(a) 1,867.50 %. (b) 1,800 %. (c) 2,700 &. (d) 1,600%.

" YoiTa @Rt @7 sreia Wi i fyaver # fawamar S 8-

(a) v& s & w9 # (b) T wwufy & w9 #

(c) & a1 & w9 (d) v =g & wy ¥

URMME ¥SIE 10000%. 31E forar T & q ff<ad e 15000%.
%H | $I0T A1) 99 B Y o TR YFIT BRT—

(a) 5000%. 3rfer®w (b) 25000%. 21fers

(c) 25000%. &H (d) 5000%. BH

qEERS U AT B A6l PR b G5 g oM TR 10 TR
HHEE U €| Adhel AT 70,000 . AT YIEIB B HHIIE B
AfIRTT AT T § 12000%. | HHE BT AR -

(a) 5272.72%. (b) 6072.72%. (c) 5372.72%.  (d) 5172.72%.

AIAO-2015 FIRST ROUND (Intra School Round)
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